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Directions: Use the clues to solve each puzzle. To find the correct number, cross out the answer to each clue in
the square that is accounted for. Your answer will be the number that is left.
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1) It’s not or 1431 2) I'snot 476 or 147

It’snot 88 or 5633 It’snot 886 or 339

It’snot 433 or 177 It’snot 222 or 933

It’snot 762 or 3210 It’snot 559 or 689

What is the number? What is the number?

3) It’snot 577 or 622 4) It’snot 376 or 950

It’snot 259 or 835 I’snot 459 or 764

It’snot 399 or 721 It’snot 893 or 587

It’snot 555 or 911 It’snot 733 or 744

What is the number? What is the number?



https://youtu.be/Rt4iiSjm7Z4

